R6.1.1 Bl SramEEAnR S sl R

An i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
¥ 49, 155 109, 602] 53, 237] 56, 365 114 175 26 69 95][ 201 557] 356 0 178 178
HI—TH 700/ 1,469 717 752 -1 -1 -3 3 6 -2 0 2 4 4 0
FLl T H 572[ 1,300 646 654 1 4 1 2 1 1 4 3 2 2 0
LI =TH 466 1,039 498 541 0 0 -1 1 2 1 4 3 0 0 0
Sl A 1, 7381 3,808| 1,861 1,947 0 3 -3 6 9 0 8 8 6 6 0
Sk —TH 484 929 436 493 8 5 0 0 0 5 9 4 0 4 4
. = 733 1,696 815 881 4 5 0 0 0 1 5 4 4 4 0
SR —TH 557|| 1,280 610 670 4 4 1 1 0 6 6 0 -3 1 4
S AT H 397 879 438 441 1 1 0 0 0 0 5 5 1 1 0
o h ] B 614 1,319 638 681 3 2 -1 0 1 3 4 1 0 1 1
BN T B 236 497 248 249 0 -1 -1 0 1 0 0 0 0 0 0
ARt TH 656| 1,645 797 848 2 3 -1 0 1 2 8 6 2 2 0
oA\ T H 388 838 383 455 0 -1 -1 0 1 0 1 1 0 0 0
IV B 619 1,462 715 747 -3 -3 -1 2 3 2 10 8 —4 0 4
S aatl 4,684 10,545| 5,080 5,465 19 15 —4 3 7 19 48 29 0 13 13
e n—1H 358 797 396 401 2 0 -1 0 1 1 3 2 0 0 0
HEE S T HL 1,024 2,099 1,053 1,046 -2 -2 0 2 2 0 5 -2 0 2
HHk o —TH 681|l 1,387 677 710 1 3 -1 0 1 -1 5 5 0
W A AEl 2,063 4,283 2,126] 2,157 1 1 -2 2 4 0 12 12 3 5 2
ST a1 H 560[ 1,239 596 643 -1 2 2 2 0 1 6 5 -1 1 2
ek R _TH 361 920 465 455 -3 —4 -2 0 2 1 4 3 -3 0 3
Mk R =TH 246 534 272 262 0 1 1 1 0 0 2 2 0 0 0
ik L G| 562 1,301 663 638 -2 0 0 1 1 0 3 3 0 0 0
msEr aaEtl 1,729 3,994 1,996 1,998 -6 -1 1 4 3 2 15 13 —4 1 5
TEIT) 374 842 406 436 0 -5 -2 0 2 -2 4 6 -1 0 1
HOEEN— T H 213 437 220 217 2 2 0 1 1 2 2 0 0 0 0
HOEE T H 429 940 466 474 1 8 0 0 0 4 8 4 4 4 0
HoEEI =T H 695 1,680 823 857 -3 -6 1 1 0 -2 1 3 -5 0 5
HOEEAN T H 807| 2,022| 1,005 1,017 -1 1 2 3 1 0 5 5 -1 2 3
HEROH T H 4421 1,024 517 507 0 -2 0 1 1 -1 2 3 -1 0 1
HOEEIS T H 397 860 421 439 5 -2 0 2 8 9 1 -1 0 1
HoEEOETH 672l 1,425 699 726 -3 -7 0 0 0 -3 3 6 —4 0 4
HOEESOSE| 3,655 8,388 4,151| 4,237 4 1 1 6 5 8 30 22 -8 6 14
PEEER 1,516 2,747 1,311 1,436 1 -5 2 7 6 13 7 0 0 0
FHIAR 302 634 325 309 0 0 0 0 0 0 2 2 0 0 0
EE g —T 538 1,093 506 587 -2 -3 -2 0 2 5 5 0 -6 0 6
EE g — T 261 517 256 261 1 -2 0 0 0 0 1 1 -2 0 2
R =T H 535 1,174 581 593 -2 —4 0 0 0 —4 0 4 0 0 0
TEE Py T 663 1,316 618 698 1 5 1 2 1 3 8 5 1 1 0
EEP g R T H 240 545 268 277 0 -3 1 1 0 —4 0 4 0 0 0
EER A2 2 2371 4,645]  2,229] 2,416 -2 -7 0 3 3 0 14 14 -7 1 8
EEIARRT— T H 716 1,412 667 745 -6 -6 0 0 0 2 29 27 -8 0 8
EEIARRT T H 675 1,294 599 695 —4 -2 2 2 0 -5 4 9 1 1 0
EEOARRTAE] 1,391 2,706] 1,266 1,440 -10 -8 2 2 0 -3 33 36 -7 1 8
RPN 271 774 417 357 -2 -2 0 1 1 —4 0 4 2 2 0
WHR—TH 732|l 1,648 805 843 -1 -1 0 1 1 7 6 -1 0 1
OO T H| 1,748 3,958] 1,909| 2,049 2 0 3 5 2 —4 9 13 1 7 6
WHR=TH 876l 2,210 1,079| 1,131 1 2 3 1 3 3 0 —4 0 4
HHRIT H 499 1,201 567 634 -1 —4 -1 0 1 -3 1 4 0 0 0
HPREEE 3,855 9,017| 4,360 4,657 3 —4 3 8 5 -3 20 23 —4 7 11
HiR—TH 730[ 1,582 772 810 -7 0 0 0 -3 5 8 —4 2 6
LR - TH 951 2,241| 1,124 1,117 7 21 2 3 1 4 10 15 18 3
PR =TH 508 1,069 545 524 -3 —4 0 1 1 —6 7 13 2 2 0
JbRAE 2,189  4,892| 2,441 2,451 5 10 2 4 2 -5 22 27 13 22 9
T IROBTHT 325 808 390 418 —4 -6 -2 2 4 -1 3 4 -3 0 3
WEl 1,606 5,057 2,241 2,816 3 -3 —4 0 4 7 22 15 -6 6
M E T H 755 1,708 819 889 2 0 1 1 4 4 2 0




R6.1.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 763l 1,786 884 902 -2 -12 -1 0 1 2 5 3| -13 0 13
MoE =1 H 640l 1,492 737 755 -2 0 -2 0 2 0 1 1 2 3 1
A EN T H 930|  2,192| 1,034| 1,158 0 -3 1 1 0 -1 2 3 -3 0 3
RCENNE 666| 1,497 740 757 8 14 1 3 2 7 13 6 6 6 0
MAEST H 420 970 450 520 0 -2 -1 0 1 0 1 1 -1 1 2
e AR 4,174 9,645] 4,664] 4,981 5 -1 -2 5 7 8 26 18 -7 12 19
VEPIe S 586| 1,151 559 592 3 4 -1 1 2 3 4 1 2 6 4
e —TH 327 693 333 360 4 2 0 0 0 3 3 0 -1 2 3
e — T H 593 1,306 623 683 -1 -2 0 1 1 0 5 5 -2 0 2
A gl 920 1,999 956| 1,043 3 0 0 1 1 3 8 5 -3 2 5
Eh— 1 H 308 684 347 337 -2 —4 -1 1 2 -5 0 5 2 2 0
= =T H 668 1,387 651 736 2 0 -3 0 3 4 6 2 -1 1 2
=T H 422l 1,077 539 538 0 0 0 0 0 0 2 2 0 0 0
Eaatl 1,398 3,148 1,537 1,611 0 —4 —4 1 5 -1 8 9 1 3 2
e —TH 387 916 431 485 -1 -2 -3 0 3 2 3 1 -1 2 3
WHE T H 4491 1,078 538 540 0 -1 0 0 0 -2 0 2 1 2 1
HWHE =T H 830/l 2,035| 1,040 995 -3 -13 —4 1 5 -7 0 7 -2 0 2
W& T B 445 1,015 494 521 -1 —4 -2 1 3 0 0 0 -2 0 2
B E ] H 841|l 1,802 892 910 6 8 -1 1 2 10 16 6 -1 0 1
HHIENT H 241 497 249 248 0 -1 -1 0 1 0 0 0 0 0 0
HEOEE 3,193 7,343| 3,644] 3,699 | -13  -11 3 14 3 19 16 -5 4 9
<HWE—TH 595 1,331 641 690 -1 -2 1 2 1 -2 2 4 -1 0 1
<HEIL—TH 709 1,481 716 765 1 3 -2 0 2 5 9 4 0 0 0
SHBEIL=TH 515 1,116 551 565 1 -1 -1 0 1 0 1 1 0 0 0
<HEWLPTH 583 1,181 580 601 0 1 2 2 0 -1 3 4 0 1 1
<O T H 279 607 328 279 -1 -5 0 0 0 -1 0 1 —4 0 4
<WEEEH 2,681 5,716 2,816[ 2,900 0 —4 0 4 4 1 15 14 -5 1 6
WVEAIT—TH 7900 1,682 818 864 -4 -13 0 0 0 -6 6 12 -7 0 7
WIEAR T H 480 1,131 580 551 -3 -3 0 0 0 0 1 1 -3 0 3
PIEARTSE 1,270 2,813] 1,398 1,415 -7 -16 0 0 0 -6 7 130 -10 0 10
s 405 775 367 408 -2 -2 0 0 0 0 3 3 -2 0 2
ek a—TH|[ 1,157 1,838 855 983 -12 -19 3 3 0 —6 12 18 -16 2 18
e T H 557 993 481 512 91 215 2 2 0 139 141 2 74 76 2
kR =T H 724 1,781 836 945 —4 —4 1 1 0 1 7 6 -6 0 6
sk BRI H 411 849 405 444 -7 -7 0 1 1 2 7 5 -9 0 9
ok e El 2,849 5,461 2,577 2,884 68 185 6 7 1 136 167 31 43 78 35
FRIREET 21 52 27 25 0 0 0 0 0 0 0 0 0 0 0
B 742 1,713 822 891 3 4 -1 1 2 1 4 3 4 4 0
VEEE 329 738 336 402 -3 -2 -3 0 3 1 1 0 0 0 0
e — T H 455 1,101 545 556 2 5 1 1 0 1 5 4 3 4 1
e T H 411 914 450 464 3 0 0 0 3 4 1 0 0 0
oo B R 866 2,015 995 1,020 1 1 0 4 9 5 3 4 1
P — T H 7200 1,441 730 711 22 13 1 1 0 16 23 7 —4 0 4
P T H 539 1,284 605 679 3 9 1 1 0 9 13 4 -1 0 1
Ve A Er 1,259 2,725 1,335] 1,390 25 22 2 2 0 25 36 11 -5 0 5
P e 321 691 352 339 -1 -2 0 0 0 -2 0 2 0 0 0
BEHIR 206 477 252 225 2 1 0 0 0 1 4 3 0 0




